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1. Solve the inequality 13 - 4x < - 11. Graph the solution set. \t.;
v
In set notation, the solution is {x| . (Type an inequality.) e
Graph the solution set. Choose the correct graph below. ‘;
7
1 A, e ——— () g <em——, b
h 9 6 -3 0 3 6 9 9 6 3 0 3 6 9

() €. ittt f— ) [
-9 -6 -3 0 3 5] 9 -33 30 27 -24 -2 18 -15

Answers x> 6

S —
A 9 6 3 0 3 6 9
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2. Findthe following for the function f(x) = 47 +4x-4.

(a) f(0) (b) f(3) () f(-3) (d) f(-x)
(e) —f(x) (N f(x + 3) (9) f(4x) (h) f(x + h)

@fo= | (Simplify your answer.)
b)f3)=[ | (simplify your answer.)

(c) f(-3)=| B | (Simplify your answer.)

(d) f(-x) =| | (Simplify your answer.)
(e) —f(x)= [ o (Simplify your answer.)

(f) fix+3) = B | (Simplify your answer.)
@f@=| (Simplify your answer.)
(h) fx+h)= I'_ I (Simplify your answer.)
Answers -4

44

20

42 -ax-4

-4x° -4x+4

4% +28x + 44

64x% +16x -4

42 + 8hx + 4h” + 4x + 4h - 4

ID: 1.1.43
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/[()@M/ c Yl K XA A T S A AR D=5
/4/6%/ e Y (X% xht fah=ht) TCA)—

/(M < Y Eeichth T ()~

(xth) = Yy '+ fxb vﬁ?ﬁ




s - - E TS
+/ 3. Find the domain of the function. A,// /"'L-(j("r “‘-\
f(x) = 1/2x -16
& C(-L)f”'7 by -

The domain is ] (Type your answer in interval notation.)
/é(/t Axip
A /l;(--(- B =0

\_/,/

Answer: [8,00)
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4. For the given functions f and g, complete parts (a)-(h). F}parts (a)-(d), also find the domain.
.f -’)J) r.".\.-f/ -
{1” e 7 {_-‘-c' )
(a) Find (f+g)(x). )7 )6)
(3x—+g) - ($x-35) ~
5 X - T

choice. \\ 7 s( = Y = ~_=;\I y
i l(//,//

f(x)=3x+8;g(x)=5x-3 (

f+g)x) = (Simplify your answer.)

A. The domain is {x| }
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) (f_ 7 )[\_\/)

B. The domain is {x[ X is any real number}. 74’,)\,; . jf’i ) 2
(b) Find (- g)(x). (3 ,{_.,J-_'_) —((5xK-3]) = P S
_ - - I . k)’_l-r( . )
f-g)0= (Simplify your answer.) 5 X —f cr’"" ) \/ 2
— — = oy 17
What is the domain of f - g? Select the correct choice below and, if necessary, fi Ilin th\eirlswer x to'complete your—
choice. \_‘/LX r ( ‘ \{// —
A. The domain is {x[ }.
(Use integers or fractions for any numbers in the expression Use a comma to separate
answers as needed.)
) )( v/

B. The domain is {x| x is any real number}. / or l
x) o J(¢ _ QU 4
G ) ($x=3) = \ =02 0

[$XE = Fx FyoX —pg=——

What is the domain of f- g? Select the correct choice below and, if necessary, fi Il'in the answer box to com;‘)}je your choice.

(c) Find (f+ g)(x).

(feg)(x) = (Simplify your answer.)

C/ext 3l -2v: 53

A. The domain is {x| }. e : e
(Use integers or fractions for any numbers in the expression Use a comma to separate S R
o - &3
answers as needed.) 5 A S X =
B. The domain is {x| x is any real number}. (/ ),// SX — f-‘ O Bl 2

(d) Find G] (x). / ,<) §x= 3,_\

f wl "/) e S
(EJ )= (Simplify your answer.) 5)(fi, )( %/J
5@1 p)

f
What is the domain of 5? Select the correct choice below and, if necessary, fill in the answer box to complete your choice,
C )" P e ey

A. The domain is {x }
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) /,/j){,(} = C(X/f T

B. The domain is {x| x is any real number}. ,L ® )) (?) /(-3)_{ s
() Find (f+g)(3). / )/' 3 ) ¢ Y—fJ J
k/wj J(3)= AT D

3of 41 8/29/2019, 9:56 AM



finalm1314COC050sulllljjRZZ04-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

(f+g)(d)= (Type an integer or a simplified fraction.) ([’/)f’// ¢ = X-r( /
(/—c)/ R)=—2(2) +(/(

(/;c‘)(z) < —-(/fr"//

(f) Find (f- g)(2).

f-g)2)= (Type an integer or a simplified fraction. ) /
(9) Find (f+g)(4). ( =2/ (’L) j "
(fe0)4)= (Type an integer or a simplified fraction.)

Nz (/ 9= 15X Tt 3 x-
ooeea gJo CFo )0 s +3i0w) -2

(iJ(1)= (Type an mtegerora5|mplf«{fr;ct¥or/1))(9) : ‘“((f)/{nj i §((<_,) ==Y
St { $5) ()= (S(16) T ()T

7 o
Answers 8x+5 /7) CC() LD / g ¢ 3
B. The domain is{x|xis any real number}. ? 6 ('( o Z’k/
-2x+ 11 //(,/ g : ‘//

B. The domain is {x[ x is any real number}. -
. XL
( K
B. The domain is {x| X is any real number}. j 5 ( 3
348 3(N+7 7
5x- 3 (,, ( )
s K14 ) 3
A. The domain is {xl x# o }
(Use integers or fractions for any numbers in the expresaion Use a comma to separate answers as heeded.)

: GIo= F5

’—‘_ B ~ o

: o 0

ID: 1.1.67
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v 5. For the given functions f and g, complete parts (a)-(h). I?parts (a)-(d), also find the domain,
)X)
i F+500) = ral
(a) Find (f +g)(x). TR (L_J,fw L \

(z('—ﬁ’) > ) ((9' o _
X — ‘v/rﬂ;(tz C“W/W )

f(x) =x-4; g(x)=6x2 (

(f+9)x) = (Simplify your answer.)

choice. (\ G )('L _{, 3( = \
A. The domain is {x| }
(Use integers or fractions for any numbers in the exprgssion. Use a comma to separate ﬁ
answers as needed.) Lé ¥, ’d - ‘x\(\
L : \
(0 B. The domain is {x| x is any real number}. (—{')/"7 o \
fR— 3 G2~ )
(b) Find (f - g)(x). s =
(x—<t) — (ox") = (~2v) s
f-g)(x)= (Simplify your answer.) {, & — 6)( = 2 -

What is the domain of f — g? Select the correct choice below and, ﬂnecess ary, fill in the answer box to complete your

choice. —'6 )( ~+ )(,’y - \ —
L—r—/ ]
) A. The domain is {x[ }
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) (4{’ - f),) x’ -
B. The domain is {x| X is any real number}. s
o4) . N\
A0« 55 i, N

(c) Find (f= @)(). (/ ‘-{)(GKC) = |
(fro)x)=_ (Simplify your answer.) ( 6 >( i Z‘f}( . N /_)/ x},//)

What is the domain of f« g? Select the correct choice below and if necessary, fill in the answer box to comp[ete your ch0|ce

A. The domain is {x } ( i3 )ﬂ() <
(Use integers or fractions for any numbers in the expression. Use a comma to separate /,(, 4 G" )( )
answers as needed.)
; = /
B. The domainis {xl X is any real number}. p( / ~ 6 }((,\_ C
) ) — 6 _©
- (f > . g
@ 5] N Xt

m, (// 2

f ( 6t~
[EJ x)= | (Simplify your answer.) e )

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

[ rdntis CLlerr
A. The domain is {x } (7 —f-)}/){) - G\/ dhe

(Use integers or fractions for any numbers in the express;nn Use a comma to separ

answers as heeded.) é'f?)/l) = (/{,)aﬁa,{,/'(_),,k/
Les) () = 6(e ) V-7

1/-1'7(2)¥(:'/(f/"f"2— =
Py =1Ll ~ S

lfﬁ; )= £t D

B. The domain is {x| x is any real number}.

(e) Find (f+ g)(2).

5 of 41 o BROR0199:56AM
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-
(f+9)(2)= (Type an integer or a simplified fraction.) (f'/" )) 6/) X T~ /
() Find (f - g)(4). L) (%) =0 (G) (-7 f
(/‘ﬂ)((()- G("r)(w) ,{/9/‘ 7
%/:_0}) (r.(') .'"’6(/6) 't’/‘f/
F

f-g)4)= (Type an integer or a simplified fraction.)

(g) Find (f- g)(3).

#a‘)j(]/)" - /G "f’L/"Y

T o _\\ c./(_.//
(feq)(3)= (Type an integer or a simplified fraction,) [‘ }) (L/) ’3// N
(h) Find (1] ). 6 X —e
. YEY 3 29(3)¢
[s)o-—— ((f’*%ﬂ oy —ar (30
— (M= (Type an integer or a simplified fraction.) |/ / /n) ) —C :
g o)1= 0I5 el
Answers 6x° +x - 4 / 6 ( 7
(%
B. The domain is {x| X is any real number}. ’z 7/ ) Z‘ e Z/G

-6x% +x-4

/J“L“

..-5(/ ) -~

B. The domain is {x| X is any real number}. __3 ,//
—Cf
Bx° - 24x° i ,i{fd
— ‘;( L
B. The domain is {x| x is any real number}. (j : ) G X

x-4 / I ( N=Y
(0" G-
A. The domain is {x| }-

(Use integers or fractions for any numbers in the expression. Use a comm? to separate answers as needed.)
22 / N -
96 G/) (l )
-54 /
E /| —

ID: 1.1.69

_--——--"-'-_-—__
V/"e.

f(x + h) — f(x)
Find the difference quotient of f; that is, find — h # 0, for the following function. Be sure to simplify.

(0 =2 - 4x+2 Lﬁléu‘\lt;iﬁﬂg.i-u)-(x Cexre) -
X)=X —4x+ — ¢ - h

fx+h)— 109 _ (X-{-ﬂi-} Obrh ) — e th 7 — ¥ 4 ex-L =
h | =

h
X tAht Khthl g G ~x i

Answer: 2x+h - 4 /,‘

5 b ¢ (¢ :-}.L"—‘f'-"f““”r"f&'f%‘%vﬂt /L//

ID:1.1.83 - - __)”i_ ———— &
ZAh+ ht =% '

- W L Y _ 7. o
e o bl B =Qxh T >

_‘__“—_-____—’_'_'_'_'_-_/
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‘/7- Given f(x) = x2 - 4x + 3, find the value(s) for x such that f(x) = 15.

The solution set is { }

Answer: —2,6

ID: 1.1.91

L
AJL/(” /\/ ~—k/. )( 7 = 5

2 e L
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I

<
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\/é. Determine whether the graph on the right is that of a function by using the vertical-line Ay

8 of 41

test. If it is, use the graph to find the following.

(a) the domain and range P
(b) the intercepts, if any T
(c) any symmetry with respect to the x-axis, y-axis, or the origin 7 \s# JY

Does the graph represent a function? Choose the correct answer below.

A. No, the graph is not a function because a vertical line x= - 3 intersects the graph at only one

- point.
'/é/ (Yes, the graph is a function because every vertical line intersects the graph in at most one
point.
C. No, the graph is not a function because a vertical line x= - 3 intersects the graph at two
points.

D. Yes, the graph is a function because every vertical line intersects the graph in more than one
point.

(a) What are the domain and range of ti;_e function? )Selec! the correct choice below and, if necessary, fill in the answer
box(es) to complete your chmc%(,_ ( !,_,-.!J AD1%; — ( b ks | Top )

~ ; T : ™ ; ) Y
7 A. Theg'domain fs( '_C/)_ 9/ . Thé\rangé is ( T )
(Type your answers in interval notation. Use integers or fractions for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

L Lrylf
o (~—'/ c,r‘) {/v/\
(7 A. The intercept(s) is/are J

(Type an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.

[] A. The graph is symmetric with respect to the y-axis.
[_] B. The graph is symmetric with respect to the origin.
O C. The graph is symmetric with respect to the x-axis.
[vfn “The graph has no symmetry.  »
[1E. The gra_ph is not that of a function.

8/29/2019, 9:56 AM
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Answers B. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (-4,0) . The range is (= 00,3)
(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)

A. The intercept(s) is/are (=1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID:1.2.19
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i 79, Using the given graph of the function f, find the following.

Ay
(@) the intercepts, if any 4-
(b) its domain and range - | co 0 (5/ ?_,)
(c) the intervals on which it is increasing, decreasing, or constant ( 2 5} Z’) &1L
(d) whetheritis even, odd, or neither ] S, N
4 2 2 4

('U % 2 (‘l, )

/ /

Law/ //'U" /\J teing) [
(a) What am}{ﬂ@ce }67 ’{’/ l"\ u) I
4 ) (// 13 ) /U / )

(Simphi your answer. Type an ordered palr Use a comma to separate answers as needed.)

(b) The domau:r is| /- =, & Z/ Vit h+ _f

(Type your answer in mterv."il notatlon ) -

. L] . =5 [ Ve’ / L“.:‘OT
The(-'Pangg,is LY, E-J ! /Z A //J J i
(Type-your answer in interval notation.)

{c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

( BHA'HIThe graph is(ricreés:i;é on [/ .)j [/ 37

(Type your answer in |nterval notatlon Use a comma to separate answers as needed.)

B. The graph is not mcreasmg on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fili in any answer boxes within your
choice.

- N . = o, | l
%A, The graph is decreasing on [ i }J ]~ J
(Type your answer in interval notation. Use 2 comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

{ _"'/B& The graph is not constant on any interval,

(d) The function is (1)

@))] neither odd nor even.
odd.
({i-éven
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Answers (- 1,0),(1,0),(0,1)
[-3.3]
[0,2]

A. The graph is increasingon [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as heeded.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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/1 0. The function fis defined as follows.

-3x+4
3x~-2

if x <1
fix) =
ifx21

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The domain of the function f is
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

- T‘..r 5 — Lt’ L) «
A. The(ntercept(s) is/are ( ad i “rd . 1 lecant
(Typé_én ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

(c) Choose the correct graph below.

(d) The range of the functionfis [ [ A- ). €
L= L

(Type your answer in interval notation.)

Lx, Wom '/c},.-:%_(

Answers (- 00,00) W 5«
A. The intercept(s) is/are (0.4) ‘:; t P/?' /J - 3
(Type an ordered pair. Use a comma to separate answers as needed.) ) ( I/ =,
Y
1 (s "L(/((jw'
;a—rﬁ t—-r‘rrg) { {.—‘f’k!/;’) : - ( L N\
¢ { / —) A \
A. [ A ok I\
[1,00) Yy = My - /2 \)
I.lll\ 7-' /h?&f ( ) 'J[(
ID: 1.4.33 \ - ¥ 2ard) ¥ S (:’;.
v £ . d {
7= =3 Y T()(< ')
} ‘ {;j;m,-_) /M(/[\

Laed

9. 3¢ Z‘T/XZ/)

>

12 of 4 b—__
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\,/11. The function f is defined as follows.

4+x ifx<0
f(x) =
X2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(¢) Graph the function.

(d) Based on the graph, find the range.

(a) The domain of the function fis | /— .- a"}-"") & (/‘3'"/"; rish r‘)
(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to oomglete your choice.

X=nlecog b s oAk
e Loy
O A. The iffercepi(s) is/are ( 7 0) (u‘ Q) X }’ 4 //} /W

— },,
(Type an ordered pair. Use a comma to separate answers %2eeded )

(©) B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A

—

& ]
E'(Ii'i':: ﬁ:‘gfvz::einf?:t::;fr::tatgon.?d ?'/J € (-LJ 'ﬂ)‘m) wﬂ) (/{ S {
Answers (- 00,00) ) v 4,{}/\ ;\)

A. The intercept(s) is/are (- 4,0),(0,0) . . :

(Type an ordered pair. UsMeparate answers as needed.) C ¢ / C- (" ir

FL,\, (wd oy N\
. ’ Y117 ~ —/L '\\I‘
|5 e TE )
c. 7 .'I |
S 7 gy <~ T
™,

,,'-':‘L ./V} .
ID: 1.4.37 \ 7 7

ol P LG

,_%E G x = (X< 0)

7 76~
C\ /(’_.-{_‘r

= .d--"//" 7 (/J.‘E(
Y X L"J" (X 29 Ce
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"/J1 2. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F)=1(q +2 (b) G(x) =f(x + 3) (©) P)= - f(x)

1
(d) Hx)=f(x+ 1) -3 (&) Q) = =f(x) () a(x) =f(-x)
2

(9) h(g =f(2x)

(a) Choose the correct graph of F(x) =f(x) + 2 below. # e
O B. c. / \'F'/E{ \

(b) Choose the correct graph of G(x) = f(x + 3) below.

O A O B. C.

A.

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

14 of 41 8/29/2019, 9:56 AM
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15 of 41

(f) Choose the correct graph of g(x) = f(— x) below. o ¥

O A O B.

(g) Choose the correct graph of h(x) = f(2x) below.

O A. O B.

8/29/2019, 9:56 AM
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Answers

ID: 1.5.63
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13,

(a) Graph f(x) = |x + 2| - 3 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis IOT
that lies below the x-axis. 8-
(a) Graph f(x). ”
(Use the graphing tool provided to graph the function.) 4.,
(b) The area of the region bounded by f and the x-axis that & i
lies below the x-axis is | square units. Tyt A r s >
(Simplify your answer.) =10 8 42 3 & - "
u
-
-6
4
-5
1
-10-
Answers Ay f";y’) <
- 5 ./-‘}. ;4/1’
e
/ f 3 ;?A o
6\} )
» —L ).IJ
-8; C(;((V(Q'J/""
e " =

A0 -y

AV IR . Al M s ’
9 / z }//] & / \ -
- <=/ \'”‘..\ 7( / ¢ 1///

e e ——
4 o

ID: 1.5.81

y—mex = 10
—f 2

y/l/”lvj
7,»}’54/ - /0
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14¢ _Factor the gweh polynomml\completejy( If the polynomial cannot be factored, say thatit is prime.

x? +18x+77 = ( (XTZ ({"f/,)/)

—

Select the correct choice below and fill.in ;any answer boxes wtﬁ jour chonce

- C"“"“( L7(])
SN N P s
o Yl WX~ 72X 77 =
X [T4+77 <
Goud

- - . = — o .
= ) = 7< Nr T -
w15, Solve the equation. - -t '( 7 0 (ﬁ

=

(x=4)(4x+9)=0 Y=<y = J1Y o 9‘3(7‘ o e

() B. The polynomial is prime.

Answer: A. X% +18x+77= (x+11)(x+7)

ID: 2.31

The solution set is LUse a comma to separate answers as needed.)

JE Y= ="
Answer: 4= 3 Q'{/ / O/( ‘:fx_’ B é‘

'. , _-Cj : ._T:_“\‘\ \
ID: 2.3.3 Q )( e > ) '

~

%+16. Find trffzie.'ros' Q_Lfvthp quadratic function by E_&EE'EQ What are the x-intercepts of the graph of the function? B
Fo)=x2 +x-2

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

"1 A. The zeros and the x-intercepts are the same. They are

. The zeros and the x-intercepts are different. The zeros are , the x-intercepts —— =3
1 B. =
are . .,:ES,LQ /,Z\D
-/t
Answer: A. The zeros and the x-intercepts are the same. They are -21

ID:2347 (%—'—‘f—)—-Q{- 1,"_7_) = O
A X=(= 0O gt X+l o
y—1f=u</ 00 X+1-¢co-L

8/2972019;9:56. AM
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\/"’17 Find t@ero_s of the quadratic fundLn by factormg What are the x-intercepts of the graph of the function?

(dx —H)w—-—?\ @,

g(x)=2x -3x-2

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

The zeros and the x-intercepts are different. The zeros are r the x-intercepts
A are ) CNF( =0 'fr(]‘ X—¢ =O
[ - ( - /
B. The zeros and the x-mf” rcepts are the same. They are 0 A ol e~
2( == " —
1 = - LN //'
Answer: B. The zeros and the x-intercepts are the same. They are - 5,2 . Q—i) o
2% ~ =L —_—
iya L
7 ---}/ g /
ID: 2.3.19 ( X - i 2
N =3 = -
—— == I —— —— — =

+18. Find th zero,s of the following quad( atic @cﬂon by factonng What are the x-intercepts of the graph of the function?~ -

e A 1) #r =2 s l‘{f
XS F I A Y= (7. (
Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer. Use a comma to separate an ers as needed} 2« =
The zeros and the x-interceépts are differer{T The zeros are _, the x-intercepts
OA are . Yo (2O o X~ mo
(v B. The zeros and the x-intercepts are the same. They are U A1 X =1 /' 7
X+ —L =o~L
Answer: B. The zeros and the x-intercepts.are tbe same. They are -2, 7

TX=- D 0K =T Sy
ID: 2.3.23 L// & o

= - o - - - — - —

i #~ 19. Find the zeros of the quadratic function uzing the 59;‘1_3§ éot_ method. What are the x-intercepts of the graph of the

x function? Q( ¢ / /6
gx) = (x-5)> =16 (- c)t< /6

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) [ T2\ 1 = s [//6

- )
A. The zeros and the x-intercepts are the same. They are

n&—« 7 == s ‘f
The zeros and the x-intercepts are different. The zeros are , the x-intercepts
B- are X = S ol X"S’ <~ Y
Vos v = —F g~ O XTS5 O Yy
Answer: A. The zeros and the x-intercepts are the same. They are 9,1
f’d— C"- s o /
ID: 2.3.29 )( = / N // 4

My
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50 Find th:fxos of the following quadratlc functaon a@rg\pigﬂp_g léasqﬂarﬁ What are the x-intercepts of the graph of the

functiol X"— -:L,ﬂ - "(f) Ty [c,? Y( IJ_/‘—} 1) ""f'fW
F(x) = X2 + Bx = 32 A 2D B
() =% + Bx Cl ¥~ T

-~

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) X o — f + L 69+ S
¢y A. The zeros and the x-intercepts are the same. They are ‘ _
Yo, — 7 TVCTY 3
. The zeros and the x-intercepts are different. The zeros are , the x“intercepts - .
) B.
’ are .

. I / z 7 L3
Answer: A. The zeros and the x-intercepts are !{same They are -4+4J_ -4- 4[ X»— ,__Z o o Z)’ (//-

C?::—j-tf‘ﬁ VEJCJ/@VPQ%‘:}‘T._ 2 >

= e —wL4vE

ID: 2.3.33

L ;’_‘_ s __"‘\--\ T
t.21. Find tl'@;ero if any, of the quadratlc function usmg thé quadratic formula: What are the x-intercepts, if any, of the graph

of the function? //) C?z\/ ‘7"/()(”('/ § Y(\/J”/’(
f(x) = 8x> + 1+ 12x d-f) bq(/ c< |

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different, The zeros are , the x-intercepts
are ; v ——-lo'tk/é'r_q TaC
2 (AW

B. The zeros and the x-intercepts are the same. They are

) A,

)
{3 €. There is no real zero solution and no x-intercept.

= (1) = A (DD
2 (¥) “3+47 -3-47

Answer: B. The zeros and the x-intercepts are the same. They are 3
4 4
Xz~ (2 T ///’F/'

ID: 2.3.47 _—

8/29/2019, 9:56 AM
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22, Find tt{e real zeyos |f any, of the foilowmg(guadratlc functlon using ﬁ,‘)g quadratic formula What are the x-intercepts, if any,
of the graph of the function?

G(x)=2x(x+2)- 4
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

("1 A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are
are

, the x-intercepts

(O B.

() €. There is no real zero solution and no x-intercept.

(x| = 2x (X2 )=

Answer: A. The zeros and the x-mtercepts are the same. They are =1+ ﬁ -1- 1/_
G = 2% ' i

ID: 2.3.49 | Q- 27/ L-“L// C—— S

)( g ( ) S 0

21 of 41
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23.
Graph the function f(x) = - X2 +2x by starting with the graph

ofy= x2 and using transformations (shifting,
stretching/compressing, and/or reflecting).

Select all the transformations needed to graph the given
function using y = x2.

[C] A. Stretch the graph vertically by a factor of

https://xlitemprod.pearsoncmg.com/api/v1/print/math

1 FRET

[[] B. Shift the graph to the left 1 unit.
[:] C. Reflect the graph about the y-axis.
Shift the graph down 1 unit.
,r' = =
E/E Reﬂect the graph about the x-axis.

D F. Compress the 1 graph vertlcally by a
factor of 1.

( G, Shift the graph up 1 unlt e
LA/H Shlft the graph to the right 1 unit.

Use the graphing tool to graph the function.

-|5.;

204

Answers E. Reflect the graph about the x-axis., G. Shift the graph up 1 unit., H. Shift the graph to the right 1 unit.

Ay
20

PH L /Q
\/ ¢ Le 4

4-: (“”

(L)O) )(I-/),«‘,“ Y

8 12 16 20

Agod— 1
Lr\; L"(/‘(d\,\') %
i = TTETN

ID: 2.4.29-Setup & Sblve ~
P X,,—}M LxX = Jo

’7,,/4.4'&) < =/
—mey oS
. J
\\\ —

—

/J"'L/;’f*’ L{,)((_f

{’/547 v a /
Cﬁ/c/

- L:/‘h"_’ -

g, <A 2 X D

2004

8/29/2019, 9:56 AM
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/ For the quadratic function f(x) = X2 +6x - 7, answer parts (a)

through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

down
up
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractions for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis |
(Type your answer in interval notation.)

The range of fis .
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

24 of 41
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Answers up
(-3,-16)
Xx==-3

A. The x-intercept(s) is/are -71
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is -7 +(Type an integer or a decimal.)

()

%’: o L{/U/ﬂr“ﬂ—r—r‘r ‘
20 -16 12 B 12 16 20
(9, 1) )~ o)
_"5 r'@ '.
o, -
(- 00,00) /( l_,
I.'(,b/ LMY ” < /] l
[-16,00) : o L_ -
[=3.00) : )(/* w1 — \
(- 00,-3] )‘(/-/416‘){ iy i \
: l _ i -
ID: 2.4.37 | 1 e 2% o _
W, /5
I""H‘ \7 et =
.,\
\ (
‘\\_H e

25 of 41 8/29/2019, 9:56 AM



4
finalm1314COC050sulllljjRZZ04-Alfredo Alvarez *-) ()(/—f l_(J) e https://xlitemprod.pearsoncmg.com/api/v 1 /print/math

/e Y- cteatrs e wac (3,50 vl
Determine the quadratic function whose graphis given  ,  The quadratic function which describes the given graph is
below. y - 6 G(0-3)s :f;‘;pem ule (0 ¢) B
. -G \K(*"S) = = "l \j_q(,( ';j?:_h—__
: =& CRIER) =] Yl (=)

“OF A )~1< ﬂ/(x D K-3) =+
~6 - Fa—/6 ﬁ--((x I3 AT = [
1< = Q&= s/5TY= (XX T = s

i C gt =X+ T 5

ID: 2.4.49

s S ———
L 26. Determine, without graphing, whether the given quadratic function h{a maxmum?alue or a minimum value and then find

the value, J I 9'/‘;‘ 19l7 @ JACO— s ’L\/L" Sv ha;‘ o WMc X
f(x)=—3x2+30x—6 _’//,(/j: "S/‘/ _f‘))d/——(
Does the quadratic function f have a minimum value or a maximum value? . 3 ) (. - —C

() The function f has a maximum value.

What is this minimum or maximum value”Vr/ “(( ( 7[/( 7)
| 2(=% 2
I , ( )

(Simplify your answer.) V P /{1 o /

Answers ;‘:e function f has ; jﬁirn;m valu_e/ 5,_/ / (';_ ))
Verke, = (¢ S3¢s)r29¢s)—)
DR ol . /r -s’/r)/r) =32 s) 6/
Vol - (f “3(cr) #35)-0)

l/e/L/)( (5- —7 s /50 —~¢)

(/fa/// )' 75 é/ / i
e Lﬂj [I 59) /

A )( /
26 ofidl /7 29/2019, 9:56 AM

() The function f has a minimum value. V!"/L/\( / ,A 7/(,,5,_ ) \ 7
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:,.,.-' 27. Find the@x zeros of n@mtlc funct,jr Graph the function and label the intercepts.

— — — e ——
fx) =X - 12x + 72

The zeros of the function are |

(Simplify your answer, including any radicals and i as needed. Use integers or fractions for any numbers in the expression.
Use a comma to separate answers as needed.)

Choose the correct graph below.

O A

X~ id
)(,' (LY~

= /
|
Vo~ 27 [2n
{ 7// //
17 7N 5
N e
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L 728. Usethe rational Zero theorem to find all tﬁe real zeros of the polynomial function. Use the zeros to factor f over the real

n . 3
f(x) = x° + 9x? - 25x - 33 s )

Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to comple!e your answer,

P q¥, TV 15,1 )

; f_________________
Q A. X = ’l__ {
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expression. Use a comma to separate answers as 3 +
needed.) +57 4 LI T , ==
() B. There are no real zeros. / /s [ l_ .
T e — , rI 3 r’:' ’ = \
Use the real zeros to factor f. ( s ;73 - / ) J/ _
.5{:;}'55 L —_ 2
f(x) = ¥ 5l
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expressmn ) J

U S¢ -/,.,,/,( o ¢ T v s/ﬁ/,

Answers A. x= =11, -1,3 7[/'/< /{/ _/

(Simplify your answer. Type an exact answer, using radicz cals as needed. Use integers or fractions for any
rational numbers in the expression-Use a comma to separate answers as needed.)

D INE=3 ) | [ C/; -—23_?” L

ID: 3.2.45 T == @')* Jlern

B J’ ii___ J B

v gy —33° O
(X =3) & »-
Ay K=z ©o Ot X+l =
=348 = O+3 K /(f/( /= o=lf
— ¥ =3 ga Q =~/ /\

28 of 41 8/29/2019, 9:56 AM



finalm1314COCO050sulllljjRZZ04-Alfredo Alvarez https://xlitemprod. pearsuncmg com/api/v1/print/math
/ TRy b Ly

v 29 Use the rational zeros theorem to find zll/e real zeros of the polynomial function. Use the z?os to factor f over the real

numbers. /( I,v( 7—/;2_,/ "‘/; LI?“”’(T’?‘):/ G>-s" ; r:{i{i
f(x) = x* +10x° - 20x° —90x+?§ ' ‘ { /Q-E—_ "“l-;- \,,k.f‘_"_ \‘:f /fé/ il

/

' @
What are the real zeros? Select the chml:e belou.[ And if nece§sary ﬁTI 1;1 the answer box to complete your answer.
C «) ~9 ff‘” ity 9,8

(A x=

g _~——-——-—- e - ~ ~ - |
(Simplify your answer. Type an exact answer usmg rad)

=
icals 4s fieeded. Use integers or

fractions for any rational numbers in, éhe expression. Use a comma to separate answers as Q 3 e ’
needed.) /( -+ ( ({}( A3 5/ 54 Pf' /’ - — =
() B. There are no real zeros. . «_«’ L t ) / I
(1( 7 ?>(~<’f“l{> - 7/ d / /

Use the real zeros to factor f. Y-z 52z () gn
f(x) = )("f ( ( &
(Simplify your answer. Type your answer in factored form. Type an exact answer, usmg radicals as needed. Use integers
or fractions for any rational numbers in tlhe t_axpresmpn ) (j P )(—f ((— -~ (
43 -3- OU-7 ¢ —— --‘
e i -y Y
=2 o L= )

Answers A. x= -11,1,3,-3

=
(Simplify your answer. Type an-exact-answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)
AW S

(x+11)(x = 1)(x + 3)(x - 3) ,’r/‘_,’f_ﬁ

ID: 3.2.53
3 _a _.—-—-—-'————:’H_ﬁ-'m — 74 —
1 30. Solve the equation in the real number syster{r > . Z“) ,-/
79 - ,_L =
5x* - 36x° +87x° - 76x+ 1230 § 6 )7> ~¢ (& s T, Y ES T/
What are the real solutions of the ec{ua Dn'? Select the correct choice below and fill in any answer boxes in your choice 1_5’,_:"5 /
—Z6G }r ~§ Ttigreré r')’ rc‘+/
= — 2
(Simplify your answer. Type an e ct answer, using radicals asneeded. Use integers or w, / s ¥ 5 Iy
fractions for any numbers in the ekpression. Use a comma to separate answers as needed.
Type each answer only once; do lduphcate answers in the case of repeated roots.)
() B. There are no real solutions. rS )( X —7 = O
. A ¥ ]
(4% — [ =2l = ¢
1 s \ I
Answer: A.x=  £,2,3 [res =@ 04 /(,,_ !

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
numbers in the expression. Use a comma to separate answers as needed. Type each answer only once; do not
duplicate answers in the case of repeated roots.) = - =
| =g Al —UFL
'S‘_)(“—/'T/"' 6;71/ 0/( K 4_

ID: 3.2.67 I = /
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" 31. Findth vemca(horizonfal, nﬁ/oblique asymptotes, if any, for the following rational function.

- J

“q3x S—
x+20

R(x) =
Select the correct choice below and fill in any answer boxes within your choice.

¢ A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

(_» B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

() A. The oblique asymptote(s) is/are y = . S / Z )(
T
. (Use a comma to separate answers as needed.) s ;‘// o
) B. There is no oblique asymptote. i )(7( Z 3
Answers A. The vertical asymptote(s) is/are x = -20 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 13 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote. _ _—_f:: guk—"’
C L dan oo .
A )(%ZQ‘CQ o Hon Cz/,i__l/u &oro =
— X ((d—é’ =R Gy &
ﬁ ( )( O L::"J"C_':;_;
e e e
L/D/,-‘\(ELX (o >7 /l77 LJ/—(’ “".";/:/,}fv!ﬁk') \/// t—f”{&\,’f,

ID: 3.4.45

B S L ' __(é_??’e-'{“ J -/ e /40» brtm S a7 La r'*-\,(‘
Lf! -l ' le[ . |
d%b’f‘ *,(J}-—){ T 3 Vb‘ )('\L /,//“ ﬂ/ A”// ﬁj% ‘}M %A €+ I

" 9/,1-—“"F3_'_¥-/\-I .__"_-—‘__::_.____ -

ot

30 0f£~l——~ = b S - S e 8/29/2019, 9:56 AM
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o

'{,,«”#32. For f(x) = 6x + 2 and g(x) = 8x, find the following composite functions and state the domain of each.

31 0f41

(@) fog (b) gof (c) fof (d) gog
(@) fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainoffogis x| )
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (g o )(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domainofgofis {| b
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
() fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of fo fis {| ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo fis all real numbers.
(d) (@og)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of g o g is & 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers.

Answers 48x + 2
B. The domain of f o g is all real numbers.
48x +16
B. The domain of g o f is all real numbers.
36x + 14
B. The domain of f o fis all real numbers.
64x

B. The domain of g o g is all real numbers.

8/29/2019, 9:56 AM
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ID: 4.1.23

@Zq ,{/ G+ 2 M/ j@z) 7%

o(ixptr= 4/ JO/% . )
= D
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5

@f? é() < G-+ M( 96) = & x

C.
(Yo £ 1
A D)=
£( 6x+2) "
Glaat )42 °
Wyt (22
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\

5

"~ The function f(x) = 3x + 1 is one-to-one. Ay
\ (a) Find the inverse of f and check the answer. 20+
(b) Find the domain and the range of fand f 1 15._‘
(c) Graph f, f~ ! , and y = x on the same coordinate axes. 12'
-1 8-
@f = ‘
(Simplify your answer. Use integers or fractions for any 4-
numbers in the expression.) x
_ _ 20 -16 -12 8 4 i 8 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4]
necessary, fill in the answer box to complete your choice. ]
_3_:
) A The domain is {x|x # }. 12
) B. The domain is {x|x = b, grs
(0 C. The domain is {x|x= }. 30

() D. The domain is the set of all real

numbers. 1'/(;(/ < 3/4 /

Find the range of f. Select the correct choice below and, if

necessary, fill in the answer box to complete your choice. M \? - 3 ){ —y /

A. Therangeis {y|y 2 } :
B. Therangeis {y|ys } )( ~ 5 7 ud /
C. The range is {y]y# } _ 3 —f’ / - /
D. The range is the set of all real numbers. /( - ( - 7
Find the domain of f ' Select the correct choice below and, if — ’; w
necessary, fill in the answer box to complete your choice. /( a / = j

A. The domain is {xlx;é }
B. The domain is {xle }
C. The domain is {xle }

() D. The domain is the set of all real
numbers.

Find the range of f~ 1. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. Therangeis {y|y < }
B. Therangeis {ylyz }
(o]

D. The range is the set of all real numbers.

+ Therange is {y[y# o

(c) Graph f, f~ ! , and y = x on the same coordinate axes. Use”
the graphing tool to graph the functions.

8/29/2019, 9:56 AM
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x—1
3

D. The domain is the set of all real numbers.

Answers

D. The range is the set of all real numbers.

D. The domain is the set of all real numbers.

34 Solve the equation. (Z 5- '-)('-f Z T C j /
L 32—X+24=128x VJ W// 1 >

The solution set is 4{' }

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

~§Xef( 20
Answer: 10 7 = = 0
ID: 4.3.73 S AP R T
=Sy o —fde T TAlv

—SX = 7 X —] 2
—$X~ 7 = — (20— 2K
—/2x = (2o
—(? < z=—=({2

s e S
S ﬁ _/
CAX=l0 >
B 8/29/2019, 9:56 AM
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1~ 35. Solve the equation. A)j 4 (67{')/ S ) <
log,(8x+5)=4 \\-__;J_/”T’? - y
. . . . . C’/ " ’ ' ¢ / ' 4
Change the given logarithmic equation to exponential form. /,Z = Z )(// — C V{ w
(Type an equation. Do not simplify.) Z . Z ) Z ‘ Z - Y*("f ==

The solution set is - . , 2
(Simplify your answer. Use a comma to separate answers as needed.) / 6 = /)( 2= S

7
Answers gy 4+ 5=2% / é =5 = f{ =4 }/- N

i A X

ID: 4.4.91-Setup & Solve

S— —— 1x' -—2;(~;;fi_s
‘j 36. Solve by using tI(quadratlc formula, ¥+ v~ Sy de

gacen ——’—g:/i‘: “CONET ey _ 2H(Yree
The solution set is {—} 2 ( l) 2

(Simplify your answer. Use a comma to separate arl%vers as<needed. Express complex numbers in terms of i. Type an

exact answer, using radicals as needed) = = Rz

/— (\/’J =l r C/ r* : 5 =
Answer: —3,5 / — -/.

{ "} (/ ﬁ; /( = ! ‘A)

Z
ID: 4.6.1 - & A ‘_['t\

u/37. Solve the following logarithmic equation.
logo,x=2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(.} A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

() B. There is no solution.

Answer: A. The solution set is { 4 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

& & - X \/L/ |
36 of 41 =l
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- &
/ 6 (2=
" 38. Solve the following logarithmic equation. /U/ 3 ) . d

et
log;(3x)=3 2 — 'FV«/’LL‘
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

2.2.% % 3«

A. The solution set is { }. D
(Simplify your answer. Type an exact answer. Use a comma to separate answers as 2 7 ~ 3 X
needed.) 2.7 - 3 X

B. There is no solution. ""_'5_ -2

2 r.
Answer: A. The solution set is { 9 b, q - X 7™

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed))”

ID: 4.6.7

W V; 39. Solve the logarithmic equation. Z(}'j 2 (X/ ¥ 3) = écpz, // > )

log 5(x+3)=log 13

Determine the equation to be solved after removing the logarithm.

(Type an equation. Do not simplify.)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

B. There is no solution.

Answers x+3=13

A. The solution set is { 10 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve

37 of 41 8/29/2019, 9:56 AM
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4 . . . (e ) g ! = / - ;
1+~ 40. Solve the logarithmic equation. éu%o (/()M()(jfj;/,) (0) (/)—f ( v 6(,_f q) -/
log x+ log (+9)=1 10 (X (Xt 3 Prwert|lor (040 (1=7) =/
Determine the equation to be solved after removing t’rie logarithm. i (UD (/) — (“’) (//g) -
/0 x“+9XK F Goud Ooved

(Type an equation. Do not simplify.) O . )( L — (' ,(__./‘ 3D
- < —-,L( U JY =
Select the correct choice below and, if necessary, fill in the answer box to complete fur choiﬂg (‘7/ ) (/ e

) @R - ()("’ ()(’(‘f'/u [(/j(——/u) "f'é!‘)("'[) /
() A. The solution set is { } /’ A D LA D
(Simplify your answer. Type an exact answer. Use a comma to separate answers
needed.) X—| = J N X7 /= (/;‘ ANStrt~
() B. Thereis no solutlon/( 'y f =u-+/ O ,('f/d”/‘-’ - b/u

Answers x(x+9)=10 (_ ' e f ) dﬂ(zlf\\é/f M V//

070
A. The solution set is { }-

(Simplify your answer. Type an exact answer..Usea comma to 5eparate answers as needed.)

/ r w1l (\é:['/\(va) L’L){,,{,;)"\

ID: 4.6.17-Setup & Solve

e e

+41. Find the amount that results from the given investment. (_* ' ' : R, Y | )
= p— A/ ‘?(Q)P‘ A/UU

@mv&sted @Mmpounded@r&gﬂy&&erapenodéyears/a /00//7 6/(') STz f08 e/ O

| N: V ({/;.u,v;/
After 4 years, the investment results in § /4 /0&.) (’/’_/ /b"/ )i(: é ~ = \/‘,ﬂ")

(Round to the nearest cent as needed.)
C A=/ Fs0562 )
g/

ID: 4.7.7 @&— /L};}E},T‘**W//'U bvq_// s
Taz % 42. Find the amountthatresultsfrom the glven mA\r&'éﬁfh Q ///—f AJJ' / /U U \
VA

QUD invested(a 2% compoundédally aﬁa\-a penouQZyears o 360 i / T 2% T .y
[
After 2 years, the investment resuits in $| /4 /W //—f '—"—' V= 3 60 - D‘" /

(Round to the nearest cent as needed.) A /ﬁ U(/-—f 02/36 ) 20 ( - Z = \/(«’L»/ )),

Answer: 104.08 Qﬂ /07 OF0 /6/27
ID: 4.7.11 < Z

- @yo e 0(/ oo

Answer: 148.45

o —
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43 How long does it take n investment to ouble)i n value if it is invested af 5% compiunded(q quarterly? Compounded L0S5¢
3 Cmntmuously? > 200 = foo (/"f —~ 3 u= /00 (;r(

At 5% compounded quarterly, the investment doubles in about | -years. 2o / w_C
(Round to two decimal places as needed.)

At 5% compounded continuously, the investment doubles in about

) \}u (Round to two decimal places as needed) &L 3.999Yy0 J¢*
\) 108 ) ¢ 11777

' i ZUJ ~ /I.V

Tou T e 2
Answers 13.95 2 2 (/—f,&)"ycf) ?’/ j/
1386Jﬂh</27) /ék.(//r#; ys/ﬂy)

/&(Z) e 4 (o <)
ID:4.7.35 —M&L

- the compounding | IS continuous, how Iong will
Loy
Compounding semiannually, it will be about years before Tanisha has $1,400.

(] (Round to two decimal places as needed.) /<o ~ /Uuo ( /-f 295 ) =

44. If Tanisha has fn@,xb |nvestat5 perannum ﬁun _"'rannt[ly ngwilllfbe befor she |

Compounding continuously, it will be about . years before Tanisha has $1,400.
i S
(Round to two decimal places as needed. )!__V__L_J_u - JUoU (, - (/ )

ZUod — J’fff‘éf?}/
s % iy, X %/,%(/‘/)
Al 6.81/g ‘/ (/"/' sO’ / € (@il%z,g(/3 —Vé /‘{{) Or({/)' <
6.73 ({ y) /&( / U ) ,
/&( ‘f} Zé/gs(/-/o(/s/) _____________:/{
|D4739/5\(/, - z/é/ev(/,f 05/0 ) for Zﬁiﬁfﬂ:-
P S 45" [—:ﬁtﬂ_/j:)') Qr/-.—,( = T———— ' =
45,. How many years will it take for an itial inv ‘0f$10,000- &r_ o $3f000'? Assume a rate of interest 0522
]~ compounded nuously. Vo 4 =

v p ﬁuﬁ;m{(ijg;—/ j(; 5)//6 )

It will take about years for the investment to grow to $35,000. (; - ) ﬂz A /} ]

(Round to two decimal places as needed.) LLOE
?wa /uaa,;/e e %(/3 )z o€ f) o4
Answer: 6.26 Isous _ /O‘kf - ¢ /Z’{'L/g g) T ffdé
VRS /dﬁ’) _ f?:S nggé— { 26 =
ID: 4.7.41 3.6 = @ l0€ /) ) §
e —M‘fﬁ% W}
46. Th half~ltfe?>fcarbon 14|£56001j§5 If a piece of charcoal ma pd of a tree shows oy 63% of the T T

/ »/ carbon-14 expected in living mater, when did.the tree die~ ﬂ(’l b7 /6// é gl ) /él /4/1 ;

f ~ Ly RN For m kel Z =
6 The tree died about%iya‘augo:‘ Q /(q. {..6 1 ) - ‘z‘//z / //)

'. (Do not round until the final answer. Then round tg the nearest wholg,nﬁ'mber) ff ( //

1 i // ﬂé_/_‘{..-——-_
| Answer: 3733 63 s/Ve (’é) W“M _/gL ( 63) _ 3 /6‘; /I_)

A (e63) e
| /% (R TRy T S |
| ID: 4.8.11 _Lj’f"‘ ao_ E’GO-JJZ» 63) — S W,—_L |
\ 63 ( Ssau ' ' :

WACSE %/‘L)
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el 21~ 7Y
*" 47, Solve the system of equations. If the system has no solution, say that it is inconsistent

iy 2K = Y

3x -5y=- 3/("“/‘-) :- 4% ¢
By= -1 o SRR N Zé, ..Z
5x +y =17 () 2 /X7 0 - ﬁé/ )’(‘-‘ 3J/’/‘,.

Select the correct ch0|ce below and, if necessary, fill in any answer boxes within your choice. S Z')_./—

3x— 57

O A. The solution of the system is x = andy= 4

(Type an integers or simplified fractions.) 3 (’-,’ ) it } g (
() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as = ~

{(x y)|x= .y any real number} ( L2 § / ==

(Simplify your answeriType an expression using y as the variable as needed.) I /? = e ( — 9
() €. The system is inconsistent. / /— /

— j T =
Answer: A. The solution of the systemisx=_~ 3 —andy= 2 ; ""] ~ ’ﬁ—i—
(Type an integers or S|mpl|f ed fractlons ) ' ’5/ "

ous 7 ) 2,)) C e

48. Solve the given system of equatlons If the system has no solution, say that itis mcons:stent

Xx-3y+4z= 13 ZMD/M“(”’"*- fc»/f',l [/} 52(5;

2x+ y+ z= (’f ? At
-2x+3y-3z=-15 /PJ / ¥
=% ' A
Select the correct choice below and fill in any answer boxes W|th|n your choice.

) A. The solution is x = , Y= ,andz= . (Type
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= . any real number}.
(Simplify your answers. Type expressions using z as the variable as needed.)

(_ C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x.y,z) | X= , ¥ any real number, z any real number}.

(Simplify your answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent.

Answer: A.
The solution is x = 3 Y= -2 .andz= 1 . (Typeintegers or simplified
fractions.)
ll\//) }41(/‘/134 /%v ) /Y{ ( )
ID: 6.1.45

rref (“_DJ J=

' . )f (61,20 4 uld

Q v
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v 49. Fi dthﬁvurn.f::lf-eluz'eteqmanr:e—D

_(L’(l)'f"l) ~f/7/2)’t“?)'7‘ (?fﬁ)f(y -¢ (fﬂ'/),« 1) (//J‘)f‘f)""
5‘1‘7“9’ ) (?/fﬁH (!Y;")v‘(zlﬂ)#/w 1) A+ (3rr3) <
: I e P s e . 4
kZ=:1(7k 9)= m\ (ﬂ 5, _>/C,¢Af7 CQ/C// 1/_
Answer: 150 WLJ( \L y, ju(/v,mki, i -t

ID: 7.1.73 Wé:/_;[m) = [x0 1/

Answer: 4 4 1243 4 54x? + 108x + 81

ID: 7.5.17 (’(1‘9
9 C Wy TG () € W/ 3’);

(L
Z 7)) e
)+ )/%// ) #(4)(x //‘W(y)(xvm) Ra( Mfmﬁ .

Q}/L/,(L /Z)( ,{c SYx ’f/ai)('f &7/"*

o wlf’j/a(]é C</<c
b M frs, JCO) by 0, eute =
G mhs frh, Her) b [, eadu =
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